N ot e he &
Sl 5o 2

5. X % 357/ (1,.;/5,7/2;////4 /7 /f.:zz.,z; 35 37)

/
| . . _
o 2ter\egerse]
3. 9= ; 5-92=Lz>6 C;’zj

7 3,;”5=/4~ Z = LoG /¢ ]

M. Lo612= [oc YD = Loe3 +oaY = '2/727//‘

Jbo loe L - Locl - LocBXE)

SO0
O ~(loc 3) Hioe )
- (.¥727) + 2 LOC%/o)

1] ”.”

o =a.vz72) o
7. et 3hb = Inate b3 (10D
/17, f’i/n?ﬁ’*p?/n?’ - 3lnz-= //7 x 2 /n*/;z~//7 >

P / ‘28

A/, /aj 7((7““/3// = %m
g x Pt

23, fsj <"";’”’3/ 4217‘””""7 j




S L2
oy |l 5.2 Pj 352 (35 37)

35,7 7 eﬁ'yf: 2/

0. 41 = [n0

} - o041 =2 2.077YY
] ffiaiere]l

S —ar
. 37/ 56 - G

27 G
e -—

-

—

),,,,,,

27 = [l 2

2t 2015232155

—_—
-—

1t = —0.07/7¢, -

Yir /(anza/lck
Mo K 5. X conls




